Hi Sam,
I’m Sorry as I’m not explanative in my previous attempts for this question.  The following is the table visual how it should be.
[bookmark: _GoBack][image: ]
As of today, Nov’19 and Dec’19 are the months we don’t have [image: ]data. 
· Nov’19 month [image: ]will be available in first week of December 2019.
· Dec’19 month [image: ]will be available in first week of January 2020.
If the data is not available in Total Inventory i.e. in this case November, the following are the steps to be performed.
1. Ending Inventory for previous month (Ending Inventory for Oct’19) i.e.209, 286 should be loaded into [image: ]for Nov’19.
2. Now, the [image: ]should be calculated like below[image: ]
3. As, the December month Total Inventory is not available, Ending Inventory for November should be loaded into [image: ]for Dec’19 i.e. 84, 225.
4. Now, the [image: ]for Dec’19 should be calculated like below
[image: ]

Similarly, this will be implemented for 2020.

This is iterative process as long as there are no values in the Total inventory measure. Initially I used the following to get the Circular dependency.
[image: ]measure uses [image: ]measure   
   [image: ]measure uses [image: ]measure
  [image: ]measure uses [image: ]measure.
Thanks
Satya
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Month | Total Inventory | Total Actuals | Total Forecast | Total Losses | Starting Inventory | Ending Inventory

January 325980 243,998 192207 5769 325980 371912
February 414111 226543 197477 5924 414111 437252

March 515518 244873 244154 7325 515518 508913

April 553371 240595 288,355 8651 553371 496,961

May 623837 293319 338933 10,168 623837 568056

June 554139 221,180 314181 9425 554139 451712

July 412334 217137 340961 10229 412334 338281

August 398519 201,946 304,606 9138 398519 286721
September 396457 203716 215773 6473 396457 377927
October 333980 110752 228,589 6858 333980 209,286
November 83199 202,104 6066 209,285 %i35(060] 84,225
December 89,265 242998 7,200 |84,225 _[35060 “151,023 - 76,798
Total 4588246 2376525| 3110518 93316 4,588,246 3,760,938
November 83,199 - 202,194 - 6898 + 209,286 = 84,225

December 89,265 - 242,098 - 7290 + 84,225 = 76,798
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